brium, the Price




Equilibrium

O Equilibrium is defined as a “state of rest,
seLf-Pev‘Petuatiwg wn the absence of any
outside disturbawnce”.

O example: a book LS Ln eguilibrium Lf it
s lying on a desk.
O f someone moves Lt, thew it Ls tn
disequilibrium until Lt ts put
dowwn somewhere else




O Bconowmists spend lots of time studying
sttuations where equtlibria change and
why those changes take place

O uUse this information to predict changes

and formulate econowmic policy




Equilibrium

Market Equilibrium

Demand (D)

Quantity




Equilibrium
O The market ts tn equilibrivum, since it will sta Y

Likke this, tn each time period, until there ts an
“outstde disturbance” to change CthxLLLLbVLbLWL.

O The equilitbrium is “self-righting” in that if You
try to move away from it (wWithout an outside
disturbance) Lt will return to the original position.




Equilibrium

O Producers can try to raLse or
Lower the equitibrium prioe.

O f producers raise the

price, qua wtitg
demanded will fall

Now we have an excess
supply (more qu.awtitg
supplied thawn demanded
at the higher price) =
Surplus

Excess Supply

.
Quantity Q 0+
demanded ¢

C yant t'r'
supplied

Q.

Q




Equilibrium

O (n order to eliminate a surplus, producers must lower
their prices.

O As they lower their prices, quantity demanded
will tnerease and the qua wtitg su.ppL'Led will fall.

O This ProCesS continues until the qua V\fCL’CH
demanded equals qu.awtitg suppLieol

O This will be back at equilibrivm priae so the
sttuation is self-righting uf price is raised for no
external reasown.




Equilibrium
O Producers can try to Lower
the price.

O At this pr'we, the

qua V\,tl’ca demandeod will
rise and the qua wtitg
producers suqapng falls.

O Now have excess demand
[)E::{?nsd 1 Demand (more is betng demanded

thaw supplied at the Lower
price) = Shortage




Equilibrium

O (n order to eliminate a shortage, producers must
raise thetr prices.

O As they raise their prices, quantity demanded
will decrease and the qQua wtltg suppLLeol will
LILCrease.

O This ProCESS continues until the qua V\fCLtH
demanded equals qua Wci’ca suqapLieol

O This will be back at equilibrivum price so the
sttuation Ls self-righting.




Equilibrium

EXCESS SUPPLY EQUILIBRIUM EXCESS DEMAND

surplus
A

4 N\

o v
. shortage

> : —

quantity < quantity Q quantity < quantity Q
demanded supplied supplied demanded




Changes in Demand and
Supply Effect Upon Equilibrium

O The equilibrivum may be moved ba any
“outsioe disturbance”.

O (n supply and demand, this change
would be tn one of the determinants
(factors) of demand or supply other
thaw the price of the product.

O Leads to a shift un etther the supply
or demand curve




Determinants of Demand

tncome (normal goods and O Age structure of population

lnferior goods)
chawnges tn Lincome

Price of other goods (substitutes, distribution

compLemew’cs)
Government policy changes

Tastes and preferences
Seasonal changes

SLZC D‘f ‘PO‘PM.LatLDV\: Needs Income

Preferences

NON-PRICE
) > )

Price of
substitutes

Price of complements
Expectations




Determinants of Supply

O Costs of factors of O Technology
production (land, Labor,
capital and management) 0O Expectations

O Prices of other products the O Government tntervention

Availability
'PYDD[ weer could 'PYDOl Ucé of factors

y Cost of

Lnstead factors

Technology
PRICE NON-PRICE
= - JES

Subsidies
Copynight: wvaww.economicsonline.co.uk Weather and
natural factors




Changes in Demand and
Supply Effect Upon Equilibrium

O example: There Ls an increase
ln tncome for consumers of
foreign hoL'wlags (normeal
good)

0 whew tincome
Lnereases, thew there
wtll be an tnerease Ln
the demand for
hoLLdaHs and the >
dema V\/d Ol/(_Y\/e 'fDY M et 2 | Qe Qel Q1 Quantitydemanded
hoLidags will shift to
the right




Changes in Demand and
Supply Effect Upon Equilibrium

O wWhewn the demand curve shifts
from D1 to D2, price initially
remains at Pe so we find that
®Re continues to be supplied but
now demand tncreases to @1

This means that at the old
equilibrivm price, there Ls
excess demana

.

Quantitydemanded

To eliminate excess demand, T A
producers raise prices wnttl
Ruantity demanded equals
quantity supplied




Changes in Demand and
Supply Effect Upon Equilibrium

O Whewnever there is a shift L the demand
or supply curve, Lf Left to act alone, will
adj ust to a new equilibrium, market
clearing price.




The Role of Price Mechanism

O Forces of supply and demand (Rnoww as “price
mechantsm”) move markets toward equilibrivum.

O Price mechantsms also help allocate scare resources

0 Resouwrces are allocated and reallocated tn
response to change in price

2 we assume assume that producers are rational
¥ (want to maximize profit), a higher price will
gLve producers an tncentive to produce more of
a good (law of supply)




The Role of Price Mechanism

O Producers will allocate weore
resources towards producing a
good whose demand is highest
(profit for producers)

O There ts no central planning
agency that specifically tells
producers to produce more of a
good

O lnerease Lin priae CONWSUMALYS AVe
willing to pay acts as a signal to
producers to LLCYEase produa’ciow

/V’

By




The Role of Price Mechanism

O Role of price mechanism Ls an example of Adam
Swith's “lnvisible hand” tn the economy by moving
the factors of production around to produce the goods

and services wanted bg bugers L the commuwitgj.

LEMONADE ! GET YOUR WON ARE | TERRIBLE. |[1T SURE \S [ YEP. SEE, M{|[Sore. ALL M| MANRE T
ICE-COLD LEMONADE / ? ] I DONY © | LEMONSDE WS | | SAVINGS ARE IN | SHOULD START

JUST FINE DOLLARS A UNDERSTAND "ALL - NATURAL” .J BONDS. [ CHARGING
GLASS, WHILE 1T LASTS/ : REFRIGERATION! \?,J TEN DOLLARS
— o

2

WANT To BUY D I DoNT
0 |

e | BAVE To SEill
@ AS MUCH.

i
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Market Efficiency:
Consumer and Producer Surplus

Avre some

* 7 people willing to
= P g the pay above the
equilibrivum GRS

, price?
P YLCE

O g* isthe
equilibrivm

qua wtLt 5

q*
Quantity q




Market Efficiency: Consumer Surplus

O People are willing to pay above the
P (equilibrivum price) as shown

by the demand curve. '
For example, at a price of $70, the

quantity demanded Ls 200.

However, consumers oo not have
to pay $70, they cawjust pay the
equilibrium price of $50.

This means that all of the
consumers who purchase the first
399 ittems have maode a gain.
They have paid the price below the
price they were prepared to pay




Market Efficiency: Consumer Surplus

D ‘T'h L (= LLLUL S’CVWC& < th e Consumer surplus 1s the difference between the price that a consumer 1s prepared to

pay and the actual price paid

concept of consumer
sprus

Price

: T—h L S L s e )(tr a » R Equilibrium Point

satisfaction (or l
utility) gained by :
CONSUIMErS from Pa 5&/\,9
a price that is Lower than
that which they were
prepared to pa Y

Quantity




Market Efficiency: Consumer Surplus

O (nthis case, one
consumer was willing to
pay as much as $£g89 for a
product, but since they
ong have to pa Y $£50,
they are gaining.

The total consumer
surplus ts shown by the
area under the demand
curve and above the
equilibrivum price




Market Efficiency: Producer Surplus

O Also, at the
equilibrivum polnt,
some production of a

product would take

place at a price Lower
thaw $£50

This Ls shown bg the
suppLg cCUrVve.




Market Efficiency: Producer Surplus

O For example, at a price $=0,
there would still be 200 products
supplied. At a price of $20, there
would still be 100 products
supplied.

However, the producer does not
have to sell thelr product at $20
or %320, they cawn sell their
product at equilibrium price of
$£50.

The producer wtll have recelved a
higher price thaw then the one
she was prepared to accept.




Market Efficiency: Producer Surplus

Producer Surplus

Equilibrium Point

Quantity

This tllustrates the
concept of producer
surpLus.

Producer surplus Ls the
excess of actual earning
that a producer makes
from a given qua wti’cg of
output, over and above the
amount the producer
would be prepared to accept
for that output.




Market Efficiency: Producer Surplus

O (n this case, the producer
was willing to supply a
product for as little as $g
for each (400/450= 42/
product), but receives $50
per product. The producer
LS gaLniing.

The total producer surplus
Ls shown by the area under
the equilibrivum price and
above the supply curve.




Allocative EfflClency

O whewn a market Ls Ln
equilibrivum (with no o)
external influences and no | ‘ A
external effects) it is satal oty

to be socially efficient or in %o
a state of allocative “e
equilibrivum

This means that resources
are allocated tn the most
efficlent way from
SOCIETIES POINT OF
View




O The graph shows
consumer surplus T " 5= Marginal

, social Cost (MSC)
and producer surplus | Consumer |

, Surplus
when market Ls at P _,
equilibrivm ~ Community ™,

Surplus
The sum 0T consumer f \,
and a f L 57\ Producer
no prooucer surplus e rohis '
LS Rnowwn as ' D = Marginal
' , Social Benefit

COMAVAUNLE (MSB)
SMY‘PL'/LS = t%taL & Allocative emclﬂgv

: 0
benefit to soclety E QUANTITY

G All rights reserved 2011
wuw dineshhaksh com




O At the equilibrium (EB),
oommuwitg surplus LS

a

a

maximized

This Ls the poiw’c of

allocative efficiency ~ Community™, 4

qglven the S”’PPLU and Surplus

demand sttuation, there 57\ Producer

o
-

Ls no other combination
of price and qua w’ci’cg on
the diagram that could
give a greater

| 5= Marginal

Consumer social Cost (M3C)

Surplus

pUrplus D = Marginal

Social Benefit
(MSB)

. Allocative emcleu;v

oommuwi‘cg surplus

G All rights reserved 2011
wuw dineshhaksh com

E QUANTITY




O This is the optimal
allocation of resources

S= Marginal
from the point of view of

Consumer social Cost (M3C)

socLety. : Surplus

Conswmers may prefer C R Y.
Lower prices and producers T

may prefer higher prices, ‘7\ \,
but with this demand and P Producer
supply curves, this is the > 4 purplus _ D = Marginal

allocatively efficient price . , ™ Social Benefit
J fs F (MSB)

.~ Allocative emcleu;v
E QUANTITY

ano qua V\,titg

commuwitgj surplus LS o0
maximizeol

G All rights reserved 2011
wuw dineshhaksh com




o

_ Community N\,
Surplus  _~

Y 4

o

Allocative Efficiency

’ 5= Marginal

— social Cost (MSC)

Surplus

Surplus
P D = Marginal

Social Benefit
(MSB)

. Allocative emcielgv
E QUANTITY

O when we assume
that the costs of the
'Lwdustrg are equal
to the costs to
soctety thew the
suppl,g cUrve
represents the soctal
cost curve

Marginal Social

Ccost Curve ((IMSC)

e Al rights reserved 2011
waw dineshbaksh com




o

~ Community™,

Allocative Efficiency

| 5= Marginal

— social Cost (MSC)

Surplus

Surplus

r"
-
."'
e
,"
<’

7 Surplus |
P D = Marginal

Social Benefit
(MSB)

. Allocative emcielgv
E QUANTITY

Al rights reserved 2011
waw dineshbaksh com

O f we assume that the
benefits in the
marRet are
equivalent to the
benefits to society,
thewn the demand
curve represents the
soctal benefits

Marginal Socilal
Benefit Curve (MSB)




